Computzr Science % A
ot 0 - A« Dxam 2023 :

Paper . | | Ob'vef:hvo T

Time Allowsd  : 15 minutes §5C (Part - 1)
Session ( 2020 - 22)!0(2022 24)

Maximum Marks : 10

.,.__..--— -

LA ;f_..-..,..f / ..w’ uréz,..n c,a,A..,LMy&Jh'f #J QVQWJWWLHW

b
| &ﬂhut?uﬁpﬂ..;m@..f.;/..( LSef dibied ;{J/LM fF { uWauﬁw.r" ff—l&m
: Note ¢ Four possiole cholces A,8,C,D 1o each quuﬂan are given, Which cholca 1 corect, il that clcle n front of that QUes
|
{
|

i
|

numbir.Use marker or penfo fil he clrles, Cuting or fling bwo o mere eels wil result In zer0 mar In that queson

| The number system we use in our dally

(4) Decimal Number Sxem rWJPI (B)m el
[0 e i, )70 By Vi | 5
T, v/ V| 0
Preached through proper Algorithm /or work. planning !

(A) Prepared Solution JWJL’ (B] Candid Solufion Jr if I
: (C) Stratecized Solution &} J (D) Best Solufton J’Q /‘ E

HIn 2 Flowchart <> symbol is usedo indicate : q.d)}u ..JUWJ <> L):HJW B

Whlch Solutxon is

() Ouput gl (D), Drogress M

Number'17" is equal to — in Binary System A\ ¢ ¢ WJUL-"'WZ‘U:(M 4 i
| A) 1000 (B) 2010 (¢) T (D) 10000 i

A\ bt ﬁ %Mw 6

ser name M‘{rﬁui

'Mmich of the following is mot a characterfsti
4)s F.xght Character Long .)l} 7

(A} World Wide Web  (B) World Wheel Web |
(C) Wheather Wide Web (D) What Wide Web

e ey

The IPVé Addes s made up of —— Birary Bt ¢ q.li.c-t;’tf/'pxd’ﬂ v ()
|

n

I

|

J

W% @E % QMO0 ik
Sl L.«Jﬂr/uifyrﬁu Wﬂﬂ s w2 e B
il il

In Benazir Income Scheme you won a prize of " 75600", This type of message you

reeiveon yor el phone and askyou to call a number which type of thig Cyber :
Crime is :  (A) Hacking J/r' (B) Advance Fee Era 5 :

(0 ety ot pfost y Diagy

Which Topology uses more Len “ \SU «;-Uﬂ JM K ”Llf-v’lm U(
apology Mb

[A) Bus Topology
(C) Ring Topol J MeshTopology JW

e e SR




